Home Learning Maths - Unit 4 - Week 14 - THURSDAY

,000 g = L kg

2)  How many faces does a cuboid have?

3) Which is longest 30 cm, 30 mm or 3 m?

98

4)  Complete the part-whole model.




SIMMERING SILVER

How many vertices has this shape
Flas,’back q got?
o,

1) Describe the translation from point A to point B. .

8

000000000000

2)  Which type of triangle has | line of symmetry?

3) Which angle is larger, A or B?
A %_

4)  Calculate 300 + 1,900 + 2,700

White




SIMMERING GOLD

| {.i.._-_-i_-._- .s h b _.::jj.i k

If you cut this shape in half, what shape
would it make?

) Estimate the capacity of a mug.

@ A.30ml  B.300ml  C.900 ml

2) 7 week and 3 days =| @D | days

L -
L)

3) What are the coordinates of the E

vertices of the rectangle?

® 12385 6789 w0

Y) Write |7/ as a decimal and a fraction.




In a survey of 120

0 YVanila
B 5trawbsrey

owicece  preferred Strawberry

people, how many

ice creum?

2)  Always, Sometimes, Never true?

When drawing a line graph, each axis should start with zero.

3)  Find the sum of the internal angles of a regular

hexagon.

4)  Find the length.




sphere

(I)wma

D 1,000g= _| kg

2)  How many faces does a cuboid have? 6

3)  Which is longest 30 cm, 30 mm or 3m? 3 m

4)  Complete the part-whole model.

B o



ANSWERS SIMMERING SILVER

A sphere does not have any vertices

Describe the translation from point A to point B. .

6 left, 3 down

Which type of triangle has | line of symmetry?
isosceles triangle

Which angle is larger, A or B?
A~ BC B

Calculate 300 + 1,900 + 2,700 4,900




ANSWERS STIMMERING GOLD

hemisphere

) Estimate the capacity of a mug.

@ A30m  B.300m  C.900 ml B.300 m

7 week and 3 days =[ 52 | days

=
w0

What are the coordinates of the E (25) (29)
vertices of the rectangle? (9,5) (9,9)

1
O 1 23 %5 67 8 9

Write |7/ as a decimal and a fraction. E
0l17 00




In a survey of 120

. r- I'IIH'.IJI:"'I'I

@ erte people, how many

B Strawberry

awiceche  preferred Strawberry
ice cream? 9"

2)  Always, Sometimes, Never true?

When drawing a line graph, each axis should start with zero.
Sometimes

3)  Find the sum of the internal angles of a regular
hexagon. 7207

4)  Find the length.




Horizontal and vertical

o Which line is horizontal? o Here are some flags.

a) Which flags have horizontal stripes?

o Which line is vertical?

b) Which flags have vertical stripes?
o Use a ruler to draw the lines.

a) Draw a horizontal line 5 cm long.

@

b} Draw a line that is not horizontal or vertical.

¢) Draw a vertical line 5 cm long.

° Find two horizontal lines on the gate.

c) Is the statement true or false?

This flag has vertical and horizontal stripes.

o Find three vertical lines on the chair.

=




Horizontal and vertical

o Here are some flags.
a) Which flags have horizontal stripes?

b) Which flags have vertical stripes?

=i Il

c) Is the statement true or false?

This flag has vertical and horizontal stripes.

White

o Draw the shapes that have a vertical line of symmetry.

[ =
&

Mark the line of symmetry on the shapes.

o Draw the shapes that have a horizontal line of symmetry.

N

Mark the line of symmetry on the shapes.

N
O O




Quadrilaterals

a) Mark any right angles on the shapes.

o Use the word bank to label each quadrilateral. One shape has been done for you

(rhombus) [purullelogrum) (trapezium) b) Mark any pairs of parallel lines.

(rectungle] [squure) One shape has been done for you.

d) ¢) Which shapes do not have any right angles?

d) Which shapes have two pairs of parallel lines?

e) Which shapes have four equal sides?

b) e) Compare answers with a partner.

& @

o Complete the table for all the shapes.

The first one has been done for you.

Number Number
of pairs of of equal
parallel sides sides

E:j Yes 4 4 2 2 pairs

Number Number of

Shape Polygon? of sides | right angles

How did you know which shape was which?

KO

o Here are some quadrilaterals.

TINTA ] wmemd

What is the same about all of the shapes? What is different? \C_

o



Quadrilaterals

a) Mark any right angles on the shapes.
One shape has been done for you. 6 Draw the shapes on a squared grid.

b) t i llel
b) Mark any pairs of parallel lines. a) square ) trapezium 9 parallelogram

One shape has been done for you.

c) Which shapes do not have any right angles? o

This is a square
because it has got

d) Which shapes have two pairs of parallel lines?
4 equal sides.

&) Which shapes have four equal sides?

Compare answers with a partner.

o Complete the table for all the shapes.
The first one has been done for you.

©C ©

Do you agree with Rosie?

Number | Number of Num_b-er Number Explain your answer. g
Shape Polygon? . . of pairs of | of equal
of sides | right angles . .
parallel sides sides
Complete this Frayer Model to describe a quadrilateral. c
i 11 ves a 4 2 2 pairs o P J 4 A
My definition Key characteristics
2

Example \-.ﬂ______..-—-/’ Non-example

O g

What is the same about all of the shapes? What is different? @




GOLD

Calculating angles around a point

o Work out the sizes of the unknown angles. o Work out the sizes of the unknown angles.
B Ty | ) ’
> Q n
° % “ ‘_' 130° -
m 175°
70

o Ron turns clockwise through 110 degrees.

He continues to turn the same way. m
e o Ms Hall asks her class to draw an angle of 250 degrees.

He wants to turn to where he
was facing at the start.

My protractor only goes
up to 180 degrees.

How many more degrees does he
need to turn through?

o Work out the size of the unknown angles. That's true. But I think

a) 4] we can still use it. rorgs
145° y a) Explain why Alex is correct. Q
w 240° b) Draw an angle of 250 degrees. 2"
e

Compare methods with a partner. {
-
b) d) 265° e Work out the size of angle .
1907
70° Z
x 48° €5°

y



Calculating angles around a point

o Work out the sizes of the unknown angles.

a) b)

130°

175°
70

o Ms Hall asks her class to drow an angle of 250 degrees.

My protractor only goes
up to 180 degrees.

Amir

Alex
That's true. But I think

we can still use it

9

OKRO

a) Explain why Alex is correct.
b) Draw an angle of 250 degrees.

Compare methods with a partner.

o Work out the size of angle y.
190°

48° a
y 65

o Work out the sizes of the unknown angles.

Give reasons to support your answers.

a)

b)

T

231° c

FF\

A circle is divided into ten equal sections.

What is the size of the angle marked g7




Vertically opposite angles

o The diagram shows four angles formed by two straight lines.

a) Measure the sizes of the angles.

Whlte
Ihse

o Tick the pairs of angles that are vertically opposite.

- X =< K

a = b= c= d=

b) What is the total of angles @ and b7

Explain whuy.

o/

Do any other pairs of angles have this same total?

c) Angles a and ¢ are vertically opposite angles.

What do you notice about the sizes of angles a and ¢?

d) Angles & and d are also vertically opposite angles.
What do you notice about the sizes of angles b and &7

e) Complete the sentence.

Vertically opposite angles

O O

O O

Compare answers with a partner.

©

e Work out the sizes of the unknown angles.
Give reasons for your answers.

a)

¥ = because

b)

132° z= because
45*

@ White Ross Maths 2020



o Annie is working out the size of angle f. e) f)
Angle f is equal to 797
because vertically opposite

angles are equal.

f g = f:

Talk about your reasons with a partner. @
)

79"

Do you agree with Annie?

Explain your answer. e Angle b is three times the size of angle a.

Work out the sizes of angles a and b.

a = b=

o Work out the unknown angles.

a) c)
133" o Angle fis one quarter of the size of angle g. @

Angle fis 28°.
52°
a

a0 = &=

Are angles x and y vertically opposite?
b) d) .
Explain your answer.
b 81°
65°
73"
b = d =

BRONZE ANSWERS



Horizontal and vertical

o Circle the line that is horizontal.

pa—

o Circle the line that is vertical.

I~ —

o Use a ruler to draw the lines.

a) Draw a horizontal line 5 cm long.

&

c¢) Draw a vertical line 5 cm long.

'4 3

o Tick two horizontal lines on the gate.

N @

o Tick three vertical lines on the chair.

b) Draw a line that is not horizontal or vertical.

-

8.3.

© White Rose Maths 2020




o Here are some flags. o Tick the shapes that have a vertical line of symmetry. @

a) Circle the flags that have horizontal stripes. Draw on the shapes to show the line of symmetry.

TR

b) Circle the flags that have vertical stripes.

> I
o Tick the shapes that have a horizontal line of symmetry. @

Draw on the shapes to show the line of symmetry.

¢) Is the statement true or false?

This flag has vertical and horizontal stripes.




Quadrilaterals @

o Here are some quadrilaterals.

X

A B C
L] L] B L
o Use the word bank to label each quadrilateral. [ 1 [ ]
(rhombus] (parullelogmm) (trupezium)
L N
(rectungle) [squure) D E

a) d) ‘
__Square —povalldlooram
b) e)

, _beckongls _brogesium

d) Which shapes have two pairs of parallel lines?

B cCcD

d) Mark any right angles on the shapes.
One shape has been done for you.

b) Mark any pairs of parallel lines.
One shape has been done for you.

¢) Which shapes do not have any right angles?

e) Which shapes have four equal sides?
—Chomoen

A C

Compare answers with a partner. o
p p h /

How did you know which shape was which?

©



o Complete the table.

Number Mumbi«er Mumber
Sha Polygon? R of right e of equal
pe 499N of sides 9 of parallel eq
angles ; sides
sides
m m .
Yes 4 4 2 2 pairs
2

YA

What is the same about all of the shapes?
What is different?

C

o Draw the shapes on the grid.

a) square ¢) parallelogram

b) trapezium

This is a square
because it has got
4 equal sides.

Do you agree with Rosie?

Explain your answer.

0 Complete this Frayer Model to describe a quadrilateral.

My definition Key characteristics
( Quadrilateral )
Example \\“\—-______-—’// Non-example

(@)

N

(&

O O

D



GOLD ANSWERS

o Work out the size of the unknown angles.

Calculating angles around a point

3]

a) <)
145° ¥
w 240°
o Work out the sizes of the unknown angles.

w=| 215 |° y=| |20 |°
a=| 200 |° c=| 23] | b) d)
265°
’ o ! 4 /8\
4
NS> 8 x
b=| 190 |° d=| |55 |° o[- el

o Ron turns clockwise through 110 degrees. o Work out the sizes of the unknown angles.
8

He continues to turn the same way. a) b)

He wants to turn to where he 130° "
was facing at the start. m 9 175°
How many more degrees does he 70

need to turn through?

250 | m=| L0 |° n=| 106 |°




o Ms Hall asks her class to draw an angle of 250 degrees.

My protractor only goes
up to 180 degrees.

That’s true. But I think
we can still use it.

a) Explain why Alex is correct.
b) Draw an angle of 250 degrees.

RO

\

&

250°

Compare methods with a partner.

o Work out the size of angle y.

190°

o Work out the sizes of the unknown angles. c
1

Give reasons to support your answers.

a)
b b= 190" |" because dnoln Orowe
b b o poinr s - +3=100
b)
c=| L3 ® because %E_Mn_pm
c
c
231° [ 3 ' - =| 9= =
o A circle is divided into ten equal sections. c
=

What is the size of the angle marked g7 g=| 1Lk °

Wit
© White Rose Maths 2020 =



Vertically opposite angles

o The diagram shows four angles formed by two straight lines.

a) Measure the sizes of the angles.

a= ]_%OU b= 500 o= J%O d =

50°

b) What is the total of angles a and b7

180°

Explain why.

Hd}ww\t mﬂ'um on 4 gowﬁnk line sum bo 18O"

Do any other pairs of angles have this same total?

¢) Angles a and ¢ are vertically opposite angles.

What do you notice about the sizes of angles a and ¢?

Thoy Qe pgual.
J
d) Angles b and d are also vertically opposite angles.
What do you notice about the sizes of angles b and d?

Thay &t egued
I

e) Complete the sentence.

Vertically opposite angles %7t £ QGJ*GL

Wh|te

o Tick the pairs of angles that are vertically opposite.

= ¥ < K

YA

Compare answers with a partner.

o Work out the sizes of the unknown angles.
Give reasons for your answers.

a)

¥y=| 99 : beccwe%

opposite “B“ﬂ ove eqlol.

b)

132° z=| 122° becuuse%

d;»pfﬁs&f_ o\nﬂm e equol .

@ White Rose Maths 2020
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o Annie is working out the size of angle f.

79°
f

Do you agree with Annie? 2

Angle f is equal to 79°
because vertically opposite
angles are equal.

Explain your answer.

The -'_LLQ{j’:Jm doeont  dnowd  huo S mﬂi Wngry 'Z'JDS'(.J\:j

o Yo andad e ok, u‘ﬂhmuj opposute

o Work out the unknown angles.

52°

o

a=|1233° e=| 527

b) d)
b s
81 65°

73

b= '1_7';” d=| 15"

e) )

OA

[ n4q

€= gi f= A

Talk about your reasons with a partner. @

Angle b is three times the size of angle a.

Work out the sizes of angles @ and b.

L

a = QOG b= E:G

Angle fis one quarter of the size of angle g. @

Angle fis 28°.

Are angles x and y vertically opposite? 12

Explain your answer.
8=y = 2 So j na’
A 4+ 28= wo

134 # luo troreyove. e diaamm deens ek Srow ',.E-"Hr‘n,lbj




